Bar Lights

A Back cooling plate of REC2

+ High density SMD LED, high uniformity, high brightness
CCD Camera

+ Use special optical lens to effectively change LED irradiation angle V¥ llluminated angle diagram

+ Use standard mold to insure assembly stability and quality
. _ Lens
+ Customized emitting area, wavelength and color temperature

+ Optional diffuse board and lens angle available % %

Object

lllumination structure

REC2 - 74 X 30— R-— WD

I e [ [ o I

RE]C2 3 I8 6 X3 I0 [1) I? WI

eSSt | |Fiphenetn | emng oo e || Coer | Mumineedange 205 40

[} [ X J@)

REC2-41X16 24V 0000 1 1.5 53 20 19 1
REC2-80X16 24V [ X X X©) 2 2.5 92 20 19 2
REC2-119X16 24V [ X X X© 3 4 131 20 19 3
REC2-158X16 24V 0000 4 6 170 20 19 4
REC2-197X16 24V 0000 5 6.5 209 20 19 5
REC2-74X30 24V 0000 35 5 86 34 19 6
REC2-98X30 24V 0000 4.8 6 110 34 19 7
REC2-146X30 24V 0000 7.2 10 158 34 19 8
REC2-170X30 24V 0000 8.4 11 182 34 19 9
REC2-194X30 24V o000 9.5 12 206 34 19 10
REC2-218X30 24V 0000 10.7 15 230 34 19 11
REC2-266X30 24V 0000 13 17 278 34 19 12
REC2-290X30 24V 0000 14.2 18 302 34 19 13
REC2-386X30 24V [ X X JO! 19.2 24 398 34 19 14
REC2-434X30 24V 0000 21.5 30 446 34 19 15
REC2-578X30 24V [ X X X© 28.8 36 590 34 19 16

www. bestintech.com.tw



(mm)

1
53 =
FL 26 41(Emitting Surface) 19 g o
H 80(Emitting Surface)
HG’F" NI“‘ M3 Groove Hex Nut M3 Groove o urace
or Installation \:_\ J For Instaliation e i
gl ol
&
5/ AEEO |
T
Same In The Opposite Same In The Opposite
For Installation For Installation
REC2-41X16 REC2-80X16
3 4 3
£
=
— Z
8
19 < 181 19 170
s
Hex Nut M3 Groove 9 |26 5 Surface) Hex Nut M3 Groove 26 ‘ ‘ Surface) | ‘
For Installation £ L For Installation
e © o © ©)
ol &
Nk ] o o ) © o
v = o
Same In The Opposite \ 2M373
For Installation Same In The Opposite
REC2-119X16 REC2-158X16 For Installation
5 3 6 19 86
19 % 209 ‘ 9 26 g 74(Emitting surface)
Hex Nut M3 Groove ° 197(Emitting Surface) 5
2o staration s [ Hex Nut M3 Groove | &
staliatio oG] el o) (For Installation) s (@ ©
) g 3 E
= ] g
Same In The Opposite 4-M3 depth 4 @&
For Installation S
S
REC2-197X16 REC2-74X30
7 8
19 110 19 158
B 98(Emitting surface) ‘ 9 ‘ 26 B 146(Emitting surface)
£ LT s
2
Hex Nut M3 G o Hex Nut M3 Groove &
(Feoxr \nustallaho;\o)ove £ (For Installafion) £l @ ®|
3§ 3| E
8| ® © 3l e o
4-M3 depth 4 4-M3 depth 4
(For Instalation) S (For Installation) S
J &
REC2-98X30 v REC2-146X30 y
9 19 182 10
19 206
‘ 9 ‘ 26 B 170(Emitting surface) ] > =
g | 9 | 26§ 194(Emitting surface)
s
HexNut M3 Groove 2T Jo ° Hex Nut M3 Groove o
<| E (For Installation) ®
o®| E <
& 3
g ® ©| ©| ®
4-M3 depth 4 4-M3 depth 4
(For Installation) 5 (For Installation) 5
S S
REC2-170X30 REC2-194X30
1" 1o ) 250 12 2 278
‘ 9 ‘ 26 surface) 10 &
‘ ‘ H 266 (Emitting surface)
9 >
H;" ‘N“' “fa Croove o A Hex Nut M3 Groove 5
(For Instalation) 3 (For Installation) E— Al
. ] I8
o o
4-M3 depth 4 @Q \
(For Installation) S 28 | \Q§°
\@ 4-M3 depth 4
(For Installation)
REC2-218X30 REC2-266X30
13 14
i 302 3
JE I 5 290(Emitting surface) < 8
Hex Nut M3 Groove Ek g 19 § 386(Emitting surface)
(For Installation) T A Hex Nut M3 Groove S =3
3 “Oil {For Installation) q] H'I A a
31 o 35
) e 8
26|\ \\,,SQ/ S
4-M3 depth 4 3 depth 4
REC2-290X30 (Fornsialiaton) REC2-386X30 For nstallaton]
15 16 7
3 g
] 446 H
e 2 434(Emitting surf 2
E % (Emitting surface) H 590
1 £ .
:"F'Zxr 'I\‘n‘;'(;‘ﬂ;g:;‘m 2 19§ 578(Emitting surface)
sl 9l f gl I
sl o M3 Groo = fl
(For Installation) I I
26 ERADS
i J
4-M3 depth 4 \\’/ @%
4-M3 depth 4

REC2-434X30

(For Installation)

(For Installation)

REC2-578X30

www.bestintech.com.tw



